
	

	

 
Practice Exam 
 
 

   Section I:  Multiple Choice 
 

    
   _____________    x  1.2500 = _______________  
     Number correct            Section I Score 
         (out of 40)    
   
                                            

   Section II:  Free Response  
 

 
 Question 1   _________  x 1.8750  = ___________           
      (out of 4)             
 

 Question 2   _________  x 1.8750  = ___________           
      (out of 4)   
 

 Question 3   _________  x 1.8750  = ___________           
      (out of 4)            
 

 Question 4   _________  x 1.8750  = ___________           
      (out of 4)            
 

 Question 5   _________  x 1.8750  = ___________           
      (out of 4)                      
 

 Question 6   _________  x 3.1250  = ___________  
      (out of 4)                      

        Sum   = ___________                   
          Section II Score   
     

   Composite Score 

 
   ______________  +   ______________  =  _________________  
   Section I Score   Section II Score        Composite Score 
 
 
 


